Please reanswer problem 29 0r 36, the same, and give a simple answer to all in human language so to say to understand.  The math symbols, etc. make no sense and need to understand.
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Answer:

(II) and (IV) are NOT correct. Why? Since f ig an antide

rivative of 8, we have
F(x)=g(x)
(I) If g(x)>0 for al] X, then f’

(II) II If g(2)=0, then £(2)=0. So we know that f(x) has a horizonat] tangent at x=z
but NOT x+a.

am Ir f(x)=0 for al] X, then f(x)=0 for all x. Sog(x)=0 for all X
30) I vy Ir £(x)=0 for al] X, then f(x)=0 for all x. So we know that f(x)=const for all x.
This constant can be any constant. But we can not know this constant is
ZERO.
(V)

“f is continuous for all x “ s trye obviously since we know that the derivative
of f exists at any point x.
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Answer for below problem is wrong.  Please redo step by step with explainations of each step no matter how small a detail to get final answer.   Make easy to understand.

[image: image2.jpg]32)

TR e 4
4
A =2
—_ — \}—
o =
()
2\
din = 3
‘}/,‘.
i) : 4

Let f{x) =x"3 +x.
Ans = Y. Explain.
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If h is the inverse function of f then h’(20) equals?





